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QUESTION 1

A customer is running a three-node Nutanix cluster.

Which data optimization feature cannot be enabled in this scenario?
A. Post Compression

B. Map-reduce dedup

C. Erasure Coding

D. Inline Compression

Correct Answer: C

QUESTION 2

What is the biggest benefit of the Redfish Protocol and LCM?

A. HBA and NIC card update twice as quickly

B. AOS and AHV update twice as quickly

C. BMC and BIOS update twice as quickly

D. SSD and HDD update twice as quickly

Correct Answer: C

The Redfish Protocol and Lifecycle Manager (LCM) provide the biggest benefit of allowing BMC and BIOS updates to
be done twice as quickly as before. This is because Redfish and LCM allow for updates to be done in parallel, rather

than serially, which reduces the amount of time it takes for an update to be completed. Reference:
https://portal.nutanix.com/page/documents/details?targetid=Platform-Administrator-Guide-v5_7:pag-redfish-lcm-c.html

QUESTION 3

An administrator is upgrading a current three-node Nutanix cluster with new HCI nodes. Currently, the environment is
based on a Single two-unit chassis hosted in one cabinet.

By simply changing the system form factor, what new level of resiliency may this customer achieve?
A. Rack awareness

B. Block awareness

C. Metro Availability

D. Better replication factor

Correct Answer: B
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QUESTION 4

An Administrator wants to copy some virtual machine disk files to ADSF from an external VMware ESXI Host. Which
two action should the administrator take to complete this task? choose two

A. Enable CHAP on Volume Group

B. Mount container as NFS on External host
C. Configure Whitelist on container

D. Configure Volume Group

Correct Answer: BC

QUESTION 5

What is required to successfully live migrate a VM Between two AHV clusters?
A. Stretch L2 networks across the primary and recovery sites

B. Configure a Protection domain with synchronous replication

C. Install and Configure the witness VM on a third Site.

D. Both clusters must be managed by the same prism central

Correct Answer: B
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